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Section 1 - PaperI-English Language 

1) Find the most appropriate opposite meaning word: 
BUSY  

A) Engrossed  
B) Lazy  
C) Engaged  
D) Occupied  

 

 
 
2) What is the plural form of Campus?  

A) Campuss  
B) Campus's  
C) Campuses  
D) Campus  

 

 
 
Read the following passage and answer the questions 
that follow: 

Stalagmites 
 
Limestone stalagmites, the most common stalagmites are 
speleothems, which usually form in limestone caves. 
Stalagmite formation occurs only under certain pH 
conditions within the cavern. They form through 
deposition of calcium carbonate and other minerals, which 
is precipitated from mineralized water solutions. 
Limestone is the chief form of calcium carbonate rock, 
which is dissolved by water that contains carbon dioxide, 
forming a calcium bicarbonate solution in caverns. The 
partial pressure of carbon dioxide in the water must be 
greater than the partial pressure of carbon dioxide in the 
cave chamber for conventional stalagmite growth. If 
stalactites – the ceiling formations – grow long enough to 
connect with stalagmites on the floor, they form a column. 
Stalagmites should normally not be touched, since the 
rock build-up is formed by minerals precipitating out of the 
water solution onto the existing surface; skin oils can alter 
the surface tension where the mineral water clings or 
flows, thus affecting the growth of the formation. Oils and 
dirt from human contact can also stain the formation and 
change its color permanently. Lava stalagmites, another 
type of stalagmite is formed in lava tubes while lava is still 
active inside. The mechanism of formation is similar to 
that of limestone stalagmites. Essentially, it is still the 
deposition of material on the floors of caves; however with 
lava stalagmites, formation happens very quickly in only a 
matter of hours, days, or weeks, whereas limestone 
stalagmites may take up to thousands of years. A key 
difference with lava stalagmites is that once the lava has 
ceased flowing, so too will the stalagmites cease to grow.  

This means if the stalagmite were to be broken it would 
never grow back. Stalagmites in lava tubes are rarer than 
their stalactite counterparts because during formation the 
dripping material falls onto still-moving lava floors that 
absorb or carry the material away. The generic term 
"lavacicle" has been applied to lava stalactites and 
stalagmites indiscriminately, and evolved from the word 
"icicle".  

3) The limestone stalagmites form through the deposition 
of  

A) Speleothems  
B) Calcium carbonate  
C) Water containing Carbon dioxide  
D) Calcium Bicarbonate  

 

 
 
4) Stalagmite forms a column when it comes in contact 
with  

A) Lava tubes  
B) Flowing Lava  
C) Stalactites  
D) Limestone cavern  

 

 
 
5) Lava stalagmite is different from limestone stalagmite 
because it  

A) is contaminated by human touch easily  
B) is hotter  
C) has shorter life span  
D) takes less time to form  

 

 
 
6) Stalagmite can only grow when partial pressure of 
carbon dioxide in water is greater than the partial pressure 
of carbon dioxide in the  

A) limestone  
B) cave chamber  
C) mineral deposition  
D) ceiling formation  
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7) Oils and dirt from human contact  

A) changes the PH level of the minerals  
B) doesn’t affect the minerals' chemical composition  
C) dissolves the minerals  
D) changes the colour of the stalagmites permanently  

 

 
 
8) Find the most appropriate opposite meaning word: 
ARROGANT  

A) Conceited  
B) Presumptuous  
C) Servile  
D) Audacious  

 

 
 
9) He _______ on describing his operation in graphic 
detail while we _______ lunch.  

A) insisted, were eating  
B) insists, are eating  
C) insisted, eat  
D) has insisted, ate  

 

 
 
10) Select the correct option.  
Venice is _________ city with no roads. 

 
A) no article  
B) an  
C) a  
D) the  
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Section 2 - PaperI-Education and General Awareness 

 

11) Which of the following initiatives for public education 
was proposed by Education Commission (1964-66) to 
“bring the different social classes and groups together and 
thus promote the emergence of an egalitarian and 
integrated society”?  

A) Common School System  
B) Secular School System  
C) Integrated School System  
D) Egalitarian School System  

 

 
 
11) "ଭିƊ ସାମାଜକି Ʊର ଏବଂ େଗାƪୀŋୁ ଏକାଠ ି ଆଣିବା ଏବଂ ଯାହା Ÿାରା 
ସମାନାǇନାର ଏବଂ ସମନିȴତ ସମାଜର ଆବଶȻକତାକୁ ଆେଗଇ େନବା ପାଇଁ" 
ନମିȪମżରୁ େକଉଁ Ȅଣାଳୀଟ ି ସବƽସାଧାରଣŋ ଶŁିା ପାଇଁ ଏଜୁେକସନ କମସିନ 
(1964-66) Ÿାରା ȄƱାବତି କରାଯାଇǆଲା?  

A) କମନ Ưଲୁ ସƨିମ  

B) େସକୁȻଲାର Ưଲୁ ସƨିମ  
C) ଇŠିେǲେଟଡ Ưଲୁ ସƨିମ  

D) ଏଗାଲୀଟାରୀଆନ Ưଲୁ ସƨିମ  
 

 
 
12) The Department of Education (DOE) provides training 
for  

A) improving the Kendriya Hindi Sanasthan  
B) educational administrators and curriculum specialists 
C) research students in the Central Institute of Indian 

Languages  
D) improving the skill of teachers to handle gifted 

children  
 

 
 
12) ଡପିାଟƽେମŠ ଅଫ ଏଜୁେକସନ(ଡଓିଇ) େକଉଁ ତାଲିମ Ȅଦାନ କେର?  

A) େକƄୀୟ ହƃିୀ ସଂƳାନେର ବକିାଶ ଆଣିବା  
B) ଶŁିାଗତ ପରଚିାଳନା ଏବଂ ପାଠȻǰମ ବେିଶଷŗ  

C) େସŠȱାଲ ଇନƨିଚୁȻଟ ଅଫ ଇŢଆିନ ଲାŏୁଏେଜସେର ǆବା ବଦିȻାଥƽୀŋ 
ଅନୁସƆାନ  

D) Ȅତଭିାବାନ ବଦିȻାଥƽୀମାନŋୁ ସƗାଳବିା ପାଇଁ ଶିŁକମାନŋ ଦŁତାେର ବକିାସ 
ଆଣବିା  

 

 

13) As per the Article 100 of the Indian Constitution, the 
quorum to constitute a meeting of either House of 
Parliament shall be:  

A) 1/8th of the total number of members of the House  
B) 1/10th of the total number of members of the House 
C) 1/3rd of the total number of members of the House  
D) 1/4th of the total number of members of the House  

 

 
 
13) ଭାରତୀୟ ସମିȴଧାନର ଅନୁେŒଦ 100 ଅନୁସାେର,ସଂସଦର େଯେକୗଣସ ି
ଗୃହେର ଏକ ମିଟŏି କରବିା ପାଇଁ ଆବଶȻକ ǆବା ସଂଖȻା େହଉଛ:ି  

A) େସହ ିଗହୃର େମାଟ ସଭȻ ସଂଖȻାର 1/8 ଥƽ ଅଂଶ  
B) େସହ ିଗହୃର େମାଟ ସଭȻ ସଂଖȻାର 1/10 ଥƽ ଅଂଶ  

C) େସହ ିଗହୃର େମାଟ ସଭȻ ସଂଖȻାର 1/3 ଥƽ ଅଂଶ  
D) େସହ ିଗହୃର େମାଟ ସଭȻ ସଂଖȻାର 1/4 ଥƽ ଅଂଶ  

 

 
 
14) The energy value of food is expressed in terms of  

A) Calories  
B) Joules  
C) Pascals  
D) Coulombs  

 

 
 
14) ଖାଦȻର ଶĽି ମଲୂȻ େକଉଁ ଏକକେର Ȅକାଶ କରାଯାଏ?  

A) କȻାେଲାର ି 

B) ଜୁǤ   
C) ପାƯାଲ  

D) କୁଲମȴ  
 

 
 
15) Which of the following organisations was established 
due to the recommendations of University Education 
Commission?  

A) Medical Council of India  
B) University Grants Comission  
C) Bar Council of India  
D) National Council of Teacher Education  
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15) ନମିȪମżରୁ େକଉଁ ସଂƳାଟ ିୟୁନଭିସǃଟ ିଏଜୁେକସନ କମସିନŋ ସପୁାରଶିେର 
Ȅତƪିା କରାଯାଇǆଲା?  

A) େମଡକିାଲ କାଉନସଲି ଅଫ ଇŢଆି  
B) ୟୁନଭିସǃଟ ିǲାŠସ କମଶିନ  
C) ବାର କାଉନସଲି ଅଫ ଇŢିଆ  

D) ନȻାସନାଲ କାଉନସଲି ଅଫ ଟଚିର ଏଜୁେକସନ  
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Section 3 - PaperI-Reasoning 

16) Instruction: In the following questions mark: 
1, if the question can be answered with the help of 
statement I alone. 
2, if the question can be answered with the help of 
statement II alone. 
3, if the question can be answered with the help of both I 
and II. 
4, if the question can't be answered at all. 
 
A. B, C, D and E are sitting in a linear seating 
arrangement. A is between C and D. Who among them 
is in between A and E? 
 
Statement I : E is sitting to the immediate left of C. 
Statement II : C is sitting next to A.  

A) 3  
B) 4  
C) 1  
D) 2  

 

 
 
16) ନେିŵƽଶାବଳୀ: ନମିȪଲିǅତ ȄଶȪେର  
1 ଚƺିଟ କରŽୁ ଯଦ ିେକବଳ ମŽବȻ I ସାହାଯȻେର ȄଶȪର ଉŧର ଦଆିଯାଇପାରୁଛ ି
।  

2 ଚƺିଟ କରŽୁ, ଯଦ ିେକବଳ ମŽବȻ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ 
ପାରୁଛ ି।  

3, ଯଦ ିଉଭୟ I ଏବଂ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ ପାରୁଛ ି।  

4, ଯଦ ିȄଶȪର ଉŧର େକେବ ବ ିଦଆିଯାଇ ପାରବି ନାହ ǂ । 

  

A, B, C, D ଏବଂ  E େଗାଟଏି ଧାଡେିର ବସିଛŽ ି। C ଏବଂ D ମଝିେର A ବସିଛ ି
।   

ତାେହେଲ A ଏବଂ E ମଝେିର କଏି ? 

ମŽବȻ I : Cର ଠǉି ବାମ ପଟକୁ E ବସିଛ ି। 

ମŽବȻ II : A ପେର ପେର C ବସିଛ ି। 

 
A) 3  
B) 4  
C) 1  
D) 2  

 

 

17) In a certain code language CALIFORNIA is coded as 
4213107161915102. How would DELHI be written in that 
code language?  

A) 5413810  
B) 5512810  
C) 5613910  
D) 5723710  

 

 
 
17) ଏକ ନŵିǃƨ ସାେŋତକି ଭାଷାେର CALIFORNIA ସେŋତ େହଲା 
4213107161915102 । େସହ ି ସାେŋତକି ଭାଷାେର DELHI କଭିଳ ି
େଲଖାଯିବ ?  

A) 5413810  
B) 5512810  
C) 5613910  
D) 5723710  

 

 
 
18) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
All chocolates are cakes 
All cakes are icecreams 
All icecreams are pizzas 
 
Conclusions: 
I) All chocolates are icecreams 
II) All cakes are pizzas 
III) No cake is pizza 
IV) No pizza is icecream  

A) Only I and II follow  
B) Only III and IV follow  
C) Only I and IV follow  
D) Only II and III follow  
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18) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନିଅŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: 
ସବୁ ଚେକାେଲǓ େହଉଛ ିେକǉ ।  
ସବୁ େକǉ େହଉଛ ିଆଇସǰମି । 
ସବୁ ଆଇସǰମି େହଉଛ ିପିଜା ।  

ନƦିସƽ:  

I)  ସବୁ ଚେକାେଲǓ ଗଡୁକି େହଉଛ ିଆଇସǰମି ।  

II) ସବୁ େକǉ ଗଡୁକି େହଉଛ ିପଜିା    

lll)  େକୗଣସ ିେକǉ ପଜିା ନୁେହ ଁ 

IV) େକୗଣସ ିପିଜା ଆଇସǰǡି ନୁେହ ଁ । 

 
A) େକବଳ I ଏବଂ  II ଅନୁସରଣ କରŽୁ ।  
B) େକବଳ III ଏବଂ IV ଅନୁସରଣ କରŽୁ ।  
C) େକବଳ I ଏବଂ IV ଅନୁସରଣ କରŽୁ ।  
D) େକବଳ II ଏବଂ  III ଅନୁସରଣ କରŽୁ ।  

 

 
 
19) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
All resistors are impedances. 
All capacitors are impedances. 
 
Conclusions: 
I) All resistors are capacitors 
II) Some capacitors are resistors  

A) Only I follows  
B) None of the conclusions follow  
C) Only II follows  
D) Both I and II follow  

 

 
 

19) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡିବ ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନଅିŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠିǉ ଭାେବ ଅନୁସରଣ କରୁଛ ି। 
   
ମŽବȻ: 
ସବୁ େରଜƨିର ଗଡୁକି ଇେƓଡାନȷ । 
ସବୁ କାପାସଟିǣ  ଗଡୁକି ଇେƓଡାନȷ। 

 
ନƦିସƽ:  

I) ସବୁ େରଜƨିǣ  ଗଡୁକି କାପାସଟିǣ  ।  

II)  କଛି ିକାପାସଟିǣ  ଗଡୁକି େରଜƨିǣ । 

 
A) େକବଳ I ଅନୁସରଣ କରŽୁ ।  
B) େକୗଣସ ିବ ିନƦିସƽକୁ ଅନୁସରଣ କରŽୁ ନାହ ǂ  
C) େକବଳ II ଅନୁସରଣ କରŽୁ ।  
D) ଉଭୟ I ଏବଂ  II ଅନୁସରଣ କରŽୁ ।  

 

 
 
20) If cost of two cakes is Rs. 10, then what is the cost of 
twelve trays containing half a dozen cakes each?  

A) Rs.144  
B) Rs.360  
C) Rs.300  
D) Rs.72  

 

 
 
20) ଯଦ ି ଦୁଇଟ ିେକǉ ର ମଲୂȻ 10 ଟŋା, ତାେହେଲ ȄେତȻକ େǺେର ଡଜǜ 
େଲଖାଏଁ େକǉ ରହǆିବା 12ଟ ିେǺର ମଲୂȻ େକେତ ପଡବି?  

A) Rs.144  
B) Rs.360  
C) Rs.300  
D) Rs.72  
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Section 4 - PaperI-Teaching Aptitude 

 

21) Which of the following options acts as a tool for 
acquiring knowledge in Informal Education system?  

A) Pre Primary Schools  
B) Universities  
C) Social Media  
D) Colleges  

  
 
21) ନେିମȪାĽ ମżରୁ େକଉଁ ବକିƝ ଅେନୗପଚାରକି ଶŁିା Ȅଣାଳୀେର ŗାନ ହାସଲ 
କରବିା ନମିେŽ ଏକ ସାଧନ ଭାବେର କାଯƽȻ କେର?  

A) Ȅାǉ  Ȅାଥମକି ƯǤୁ ଗୁଡ଼କି  

B) ବƤିବଦିȻାଳୟଗଡ଼ୁକି  
C) ସାମାଜକି ଗଣମାżମ  

D) ମହାବଦିȻାଳୟଗଡ଼ୁକି  
 

 
 
22) Which of the following educational programmes was 
adopted during the 8th Five Year Plan that aimed at 
providing computer literacy in India?  

A) Computer Literacy and Studies in Schools (CLASS) 
B) National Digital Literacy Mission (NDLM)  
C) Digital Saksharta Abhiyan (DISHA)  
D) National Computer Saksharta Mission (NCSM)  

 

 
 
22) ଅƨମ ପřବାଷǃକ େଯାଜନାେର ନେିମȪାĽ ମżରୁ େକଉଁ ଶŁିା କାଯƽȻǰମ ǲହଣ 
କରାଯାଇǆଲା ଯାହା ଭାରତେର କƓୁȻଟର ସାŁରତା ନମିେŽ ଉŵƨି ǆଲା?  

A) Ưଲୁେର କƓୁȻଟର ସାŁରତା ଏବଂ ଶŁିା (ସଏିǤ ଏǩ ଏǩ (CLASS))  
B) ଜାତୀୟ ସାଂǅକ ସାŁରତା ଅଭିଯାନ (ଏǜ ଡଏିǤ ଏǡ (NDLM))  
C) ସାଂǅକ ସାŁରତା  ଅଭିଯାନ (ଡଆିଇଏǩ ଏǎ ଏ (DISHA))  
D) ଜାତୀୟ କƓୁȻଟର ସାŁରତା ଅଭିଯାନ (ଏନସଏିǩ ଏǡ (NCSM))  

 

 
 
23) The UNESCO’s Commission on Education, in its 
report 'Learning the Treasure Within (1996)', identified the 
four pillars of learning. Identify the INCORRECT option.  

A) Learning to see  
B) Learning to know  
C) Learning to do  
D) Learning to be  

 

23) ୟୁେନେƯାର ଶିŁା, କମିଶନ ଏହାର ରେିପାଟƽ ‘ଲťǃଂ ଦ େǺଜର ଓିȴଦǜି  
(1996)’,େର ଶିŁାର ଚାେରାଟ ିƱƗ ଚƺିଟ କରଛିŽ।ି ଭୁǤ  ବକିƝ ଚƺିଟ କରŽୁ।  

A) େଦǅବା ପାଇଁ ଶǅିବା  
B) ଜାଣବିା ପାଇଁ ଶǅିବା  
C) କରବିା ପାଇଁ ଶିǅବା  
D) େହବା ପାଇଁ ଶǅିବା  

 

 
 
24) A student who is excellent at academics and also all 
other co-curricular activities is called  

A) poor student  
B) under achiever  
C) over achiever  
D) average student  

 

 
 
24) ଶŁିାଗତ ସଫଳତା ଓ ଅନȻାନȻ ପାଠȻଚőƽାେର ଉŦଷƽତା ହାସଲ କରǆିବା 
ଜେଣ ବଦିȻାଥƽୀକୁ କଣ କୁହାଯାଏ ?  

A) ଦୁବƽଳ ବଦିȻାଥƽୀ  
B) ଆଶଠାରୁ କǡ ସଫଳ  
C) ଆଶାଠାରୁ େବଶ ିସଫଳ  

D) ମżମ ବଦିȻାଥƽୀ  
 

 
 
25) Which among the following options is NOT one of the 
four pillars of learning identified by UNESCO's 
Commission on Education that forms the basis for the 
organisation of education in any part of the world?  

A) Learning to know  
B) Learning to fly  
C) Learning to live together  
D) Learning to do  
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25) ନେିମȪାĽ ବକିƝ ମżରୁ େକଉଁଠ ି ୟୁେନେƯାର ଶିŁା କମଶିନ Ÿାରା ଚƺିଟ 
ଶŁିାର ଚାେରାଟ ିƱƗ ନୁେହଁ ଯାହାକ ିବƤିର େଯ େକୗଣସ ିଅଂଶେର ଶŁିା ଅନୁƪାନର 
ଆଧାର ସୃƨି କେର?  

A) ଜାଣବିା ପାଇଁ ଶǅିବା  
B) ଉଡ଼ବିା ପାଇଁ ଶିǅବା  
C) ଏକାଠି ରହବିା ପାଇଁ ଶǅିବା  
D) କରବିା ପାଇଁ ଶିǅବା  

 

 
 
26) A gifted child can be helped by providing him extra 
information when compared to the rest of the class.This 
approach is called  

A) Scholarship  
B) Assistance  
C) Enrichment  
D) Reward  

 

 
 
26) ଜେଣ Ȅତଭିାବାǜ ବଦିȻାଥƽୀŋୁ େȎଣୀେର ଅନȻମାନŋ ତୁଳନାେର ଅǇକ 
ସଚୂନା Ȅଦାନେର ସାହାଯȻ କରାଯାଇପାରବି । ଏହ ିେକୗଶଳକୁ କଣ କୁହାଯାଏ ?  

A) େମଧାବୃŧ ି 
B) ସହାୟତା  
C) ସମୃŶକିରଣ  
D) ପୁରƯାର  

 

 
 
27) You were asked to guide a new teacher about 
conducting open book system of examination in the class 
room. Find out the odd one in the key points that is 
unnecessary for the above mentioned system.  

A) Understanding of the material  
B) Powerful Memory  
C) Ability to interpret  
D) Critical thinking  

 

 
 
 
 
 
 
 

27) ଆପଣŋୁ ଜେଣ ନୂଆ ଶିŁକŋୁ େȎଣୀଗୃହେର େଖାଲା ବହ ିବȻବƳା ǆବା 
ପରୀŁା ଆେୟାଜନ କରବିା ପାଇଁ ମାଗƽଦଶƽନ କରିବାକୁ କୁହାଗଲା | ମୁଖȻ 
ବƃୁିଗଡୁକି ମżରୁ ଅନୁପଯĽୁ ବƃୁିକୁ ଚୟନ କରŽୁ ଯାହା ଉପେର ଉେơଖ ǆବା 
ବȻବƳା ପାଇଁ ଅନାବଶȻକ ଅେଟ |  

A) ସାମǲୀକୁ ବୁଝବିା  
B) ଶĽିଶାଳୀ ƹରଣଶĽି  

C) ଅନୁବାଦ କରବିାର Łମତା  
D) ǰିଟକିାଲ ǆŋିŏ  

 

 
 
28) A student attempts a question and gives wrong 
answer. The teacher says,''Good try! Thanks for taking a 
chance.'' The child understands that his/her answer is 
wrong but doesn't feel bad about that. What is the 
teacher's intention behind this behaviour?  

A) To curb the confidence levels of the student  
B) To inculcate the qualities of leadership in the student 
C) To ensure that the teacher is in the good books of the 

student  
D) To encourage the student to try irrespective of the 

outcome  
 

 
 
28) ଜେଣ ବଦିȻାଥƽୀ େଗାଟଏି ȄଶȪର ଉŧର େଦବାକୁ େଚƨା କଲା ଏବଂ ଭୁଲ 
ଉŧର େଦଲା | ଶŁିକ କହେିଲ ," ଭଲ େଚƨା କରଛି! Ȅୟାସ କରǆିବାରୁ ଧନȻବାଦ 
|" ପିଲାଟ ିଜାଣି ପାରଲିା େଯ ତାର ଉŧରଟ ିଭୁଲ କŽୁି ତାହା ପାଇଁ େସ ମନ ଦୁଃଖ 
କଲା ନାହ ǂ | ଶŁିକŋ  ଏପର ିବȻବହାର ପଛେର ଉେŵଶȻ କଣ ǆଲା ?  

A) ବଦିȻାଥƽୀର ବƤିାସକୁ ବାଧା େଦବା  
B) ବଦିȻାଥƽୀ ମżେର େନତୃŭର ଗଣୁ ବକିଶତି କରିବା  
C) ବଦିȻାଥƽୀ ସାମȪାେର ନଜିକୁ ଭଲ େବାଲି ସନୁƢିିତ କରବିା  
D) ଫଳାଫଳ ଉପେର ଗୁରୁŭ ନ େଦଇ ବଦିȻାଥƽୀକୁ ଉŰାହତି କରବିା  

 

 
 
29) At which of the following stages, the specific learning 
difficulties are easily identifiable?  

A) High school stage  
B) Middle school stage  
C) Higher Secondary stage  
D) Elementary stage  
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29) ନମିȪଲିǅତ େକଉଁ Ʊରେର ନŵିǃƨ ଶŁିଣ ସମସȻାଗଡୁକି ସହଜେର ଚƺିଟ 
େହାଇଯାଇଥାଏ ?  

A) ଉő ବଦିȻାଳୟ Ʊରେର  
B) ମżƱରୀୟ ବଦିȻାଳୟ  
C) ଉő ମାżମକି Ʊରେର  

D) Ȅାଥମିକ Ʊରେର  
 

 
 
30) Which of the following statements is FALSE with 
regards to the importance of Instruction-Giving in a 
classroom?  

A) Effective instructional practices helps to minimize 
misbehaviour in a classroom  

B) Good classroom management and effective 
instruction are independent of each other  

C) Classroom management becomes a task if students 
are not involved through instructions  

D) Instruction-giving is a fundamental aspect of good 
classroom teaching practice  

 

 
 
30) େȎଣୀଗୃହେର ନେିŵƽଶ େଦବାର ଗୁରୁŭ ସମȴƆେର ନମିȪ ମżରୁ େକଉ ଁ
ବବିରଣୀଟ ିଭୁଲ ଅେଟ?  

A) Ȅଭାବକାରୀ ଶିŁାଦାନ ଅଭȻାସ େȎଣୀଗୃହେର ଦୁବƽȻବହାର କମାଇବାେର 
ସାହାଯȻ କେର  

B) ଉŧମ େȎଣୀଗୃହ ପରଚିାଳନା ଏବଂ Ȅଭାବକାରୀ ନେିŵƽଶ ପରƶର 
ନଭିƽରଶୀଳ ନୁେହ ଁ 

C) େȎଣୀଗୃହ ପରିଚାଳନା ଏକ କƨକର କାଯƽȻ େହାଇଯବି ଯଦ ିବଦିȻାଥƽୀମାେନ 
ନେିŵƽଶ ମାżମେର ଜଡ଼ତି ନ େହେବ  

D) ନେିŵƽଶ େଦବା େହଉଛ ି େȎଣୀଗୃହେର ଉŧମ ଶŁିାଦାନ ଅଭȻାସର ଏକ 
ମୂଳଭୂତ ଦୃƨିେକାଣ  
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Section 5 - PaperII-Odia Language 

 

31) େଯଉଁ ପଦ େକୗଣସ ିନŵିǃƨ ନାମକୁ ନବୁଝାଇ ଅେନକŋର ସାଧାରଣ ନାମକୁ 
ବୁଝାଏ , ତାକୁ କ ିବେିଶଷȻ କୁହାଯାଏ ?  

A) ବƱୁ ବାଚକ  
B) ଗଣୁ ବାଚକ  

C) ନାମ ବାଚକ  
D) ଜାତ ିବାଚକ   

  
 
32) ‘ଓର ଉŢିବା’ – ଏହା କ ିȄକାର ରୂଢ ି?  

A) ǰିୟାହୀନ  

B) ǰିୟାଯĽୁ  
C) ǰିୟା  
D) େଲାେକାĽି  

  
 
33) ନମିȪଲିǅତ େକଉଁ ଶƑ ‘Ȅ’ ଉପସଗƽ େଯାେଗ ଗଠତି ?  

A) Ȅତେିବଶୀ  
B) Ȅତଦିାନ  

C) Ȅତହିଂିସା  
D) Ȅǰିୟା  

  
  
 
34)  ' ତରଣି' ର ସଠକି ଅଥƽ ଦଶƽାଅ |  

A) ତରŏ   
B) େନୗକା  
C) ନଦୀ  
D) ସଯୂƽȻ  

 

 
 
35) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘ପŁୀ’ର ସମାଥƽକ ଶƑ ନୁେହ?ଁ  

A) ଶକୁŽ   
B) ଗଜ  

C) ବହିŏ  
D) ଖଗ   

 

36) ନମିȪଲିǅତ ମżରୁ େକଉଁ ବťƽଟ ି ଶƑର Ȅଥମ ଅŁର ରୂେପ ବȻବହୃତ 
େହାଇପାେର ନାହ ǂ ?  

A) ଳ  
B) ୱ  

C) ଢ  
D) Ł  

 

 
 
37) ‘ଋଣ କରି ଘିଅ ଖାଇବା’ ରୂଢିଟରି ଅଥƽ କ’ଣ ?  

A) ଶĽି ବହଭିƽୂ ତ ଖőƽ କରିବା  
B) ଘଅିଖାଇବା  
C) ଧନୀ ବȻĽି   
D) ଋଣ କରବିା   

 

 
 
38) ' କũƽୀ' ଶƑ ଟରି ସଠକି ବନାନ କର |  

A) ǉ+ǘ+ǣ+ଈ  
B) ǉ+ǘ+ǘ+ǣ+ଈ  

C)  କ+ǘ+ǘ+ରୀ  
D) ǉ+ଅ+ǣ+ǘ+ǘ+ǣ+ଈ  

 

 
 
39) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ି‘େକାବଦି’ ଶƑର ବପିରୀତ ଶƑ ?  

A) ଧୀର   
B) ମଖୂƽ   
C) ପŢିତ   

D) ବୁଧ  
 

 
 
40) 'ଅସି' ଶƑର ଅଥƽ କଣ?  

A) ଖŢା  
B)  ସଂଖȻା (୮୦ )   
C) େŁପଣ   

D) ଅସଲ  
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41) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ିଆତଶିଯȻ ଅଥƽେର ବȻବହୃତ ଉପସଗƽ ?  

A) Ȅତ ି 
B) ପରି  
C) ଉǘ   
D) ଅତ ି 

 

 
 
42) ହରି ନଜି ଘରର ସବୁ େବାଝ ମŢୁାଏ | େରଖାŋିତ ǰିୟା ପଦଟ ିେକଉଁ େȎଣୀ 
ଭୁĽ ଅେଟ ?  

A) ମȎି ǰିୟା  
B) ଅସମାପକିା ǰିୟା   
C) େȄରଣାଥƽକ ǰିୟା  
D) ନାମଧାତୁ ǰିୟା  

 

 
 
43) ‘ଅରƃିମ’ – ଶƑଟ ିକପିର ିସƨିୃ େହାଇଛ ି?  

A) ଅରƃି+ଅǡ    
B) ଅରି-ଦǡ +ଅ   
C) ଅର+ିƃǡ    
D) ଅରିǜ +ଦମ  

 

 
 
44) ଶŏି ଧରବି ିମଁ ୁ, Łୀର ଖାଇବ ତୁେମ ? େରଖାŋିତ ପଦଟ ିକ ିȄକାର ǰିୟା ? 
   

A) ସକମƽକ   
B) ଅସମାପକିା  
C) ସମାପିକା  
D) େȄରଣାଥƽକ  

 

 
 
45) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘Ʋୀ’ ଶƑର ପଯƽȻାୟବାଚୀ ଶƑ ନୁେହ ଁ?  

A) ଜାୟା   
B) କାŽା   
C) ଭŧƽା  
D) ନାରୀ   
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Section 6 - PaperII-Mathematics 

 

46) The L.C.M. of two numbers is 108. If the numbers are 
in the ratio 3 : 4, then the sum of the numbers is  

A) 35  
B) 28  
C) 63  
D) 43  

 

 
 
46) ଦୁଇଟ ିସଂଖȻାର ଲ.ସା.ଗ.ୁ 108 । ଯଦ ିସଂଖȻା ଦୁଇଟରି ଅନୁପାତ 3 : 4, 
େତେବ ସଂଖȻାଗଡ଼ୁକି   େଯାଗଫଳ େହଉଛ ି 

A) 35  
B) 28  

C) 63  
D) 43  

 

 
 
47) If a commission of 10% is given on the written price of 
an article, the gain is 20%. If the commission is increased 
to 20%, the gain is  

A) 7.67%  
B) 7%  
C) 6.67%  
D) 5.67%  

 

 
 
47) ଯଦ ିେଗାଟଏି ସାମǲୀର ଲିǅତ ଦାǡ ଉପେର 10% କମିଶନ ଦଆିଯାଏ, 
େତେବ ଲାଭ 20% େହାଇଥାଏ। ଯଦ ିଏହ ିକମିଶନ 20% ବୃŶି କରାଯାଏ େତେବ 
ଲାଭ େହଉଛ ି 

A) 7.67%  
B) 7%  
C) 6.67%  
D) 5.67%  

 

 
 
 
 
 
 
 
 
 

48)  

 
If PM = 9 cm, QM = 8 cm and MR = 6 cm, then the length 
of SM is 

 
A) 10 cm  
B) 11 cm  
C) 13 cm  
D) 12 cm  

 

 
 
48)  

 
ଯଦ ିPM = 9 େସମ,ି QM = 8 େସମି ଓ MR = 6 େସମି, େତେବ SM ର 
ଲମȴ _______ ଅେଟ । 

 
A) 10 େସମି  
B) 11 େସମି  
C) 13 େସମି  
D) 12 େସମି  
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49)  

 
The measure of angle A (in degrees) in the given figure is 

 
A) 77  
B) 85  
C) 92  
D) 87  

 

 
 
49)  

 
ଦଆିଯାଇǆବା ଚǿିେର େକାଣ A (ଡǲିୀ େର) ର ମାପ ____________ ଅେଟ। 

 
A) 77  
B) 85  

C) 92  
D) 87  

 

 
 
50) A sells a product to B at a profit of 20%. B sells it to C 
at a profit of 25%. If C pays Rs. 225 for it, the cost price of 
the product for A is  

A) Rs. 120  
B) Rs. 180  
C) Rs. 160  
D) Rs. 150  

 

 
 

50) A, Bକୁ 20% ଲାଭେର େଗାଟଏି ସାମǲୀ ବǰିି କେର। B ଏହାକୁ Cକୁ 25% 
ଲାଭେର ବǰିୟ କେର। C ଏǆପାଇଁ Rs. 225 ଦଏି, ଉĽ ସାମǲୀର ଦାǡ  A ପାଇଁ 
େହଉଛ ି 

A) Rs. 120  
B) Rs. 180  
C) Rs. 160  

D) Rs. 150  
 

 
 
51) How long will it take for a Rs. 3,000 savings account 
to double its value at a simple interest rate of 10%?  

A) 6 years  
B) 8 years  
C) 5 years  
D) 10 years  

 

 
 
51) 10% ସରଳ ସଧୁ ହାରେର ଟ. 3,000 ର ସřୟ ଖାତା ଦୁଇଗଣୁିତ େହବା 
ପାଇଁ େକେତ ବଷƽ େନବ?  

A) 6 ବଷƽ  
B) 8 ବଷƽ  
C) 5 ବଷƽ  
D) 10 ବଷƽ  

 

 
 
52) Two numbers are in the ratio 1 : 2. If 9 is subtracted 
from each, the new numbers obtained will be in the ratio 
2 : 5. If x is the sum of two original numbers and y is the 
product of the same two original numbers, then x : y is  

A) 3 : 7  
B) 1 : 4  
C) 1 : 6  
D) 1 : 18  
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52) ଦୁଇଟ ିସଂଖȻାର ଅନୁପାତ 1 : 2 । ଯଦ ିଉଭୟରୁ 9 ବେିୟାଗ କରାଯାଏ 
େତେବ େସମାନŋ ଅନୁପାତ 2 : 5 ।  ସଂଖȻା ଦୁଇଟରି ସମƨି  ଯଦି   x ହୁଏ  
ଏବଂ ଗଣୁଫଳ y  େତେବ x:y େହଉଛ ି 

A) 3 : 7  
B) 1 : 4  

C) 1 : 6  
D) 1 : 18  

 

 
 
53)  

 
 
In the figure , if NT/AB =9/5, MB = 10 cm, then the length 
of MN is  

A) 18 cm  
B) 26 cm  
C) 24 cm  
D) 22 cm  

 

 
 
53)  

 
ଚǿିେର, ଯଦ ି NT/AB =9/5, MB = 10 େସମି, େତେବ MN ର ଲମȴ 
_________ ଅେଟ। 

 
A) 18 େସମି  
B) 26 େସମି  
C) 24 େସମି  
D) 22 େସମି  

 

54) 

 

A) 2  
B) 

 

C) 0  
D) 4  

 

 
 
54) 

 

A) 2  

B) 
 

C) 0  
D) 4  

 

 
 
55) Three times a number added to one fourth of the same 
number results in 52. Which is the number?  

A) 10  
B) 20  
C) 12  
D) 16  

 

 
 
55) େଗାଟଏି ସଂଖȻାର ତନି ିଗଣୁ େସହ ିସଂଖȻାର ଏକ ଚତୁଥƽାଂଶ ସହତି େଯାଗ 
କରେିଲ ଉŧର େହବ 52 | େସହ ିସଂଖȻାଟ ିେକେତ?  

A) 10  

B) 20  

C) 12  

D) 16  
  
 
56) An amount of Rs. 1300 is divided amongst four 
members A, B, C and D. If a, b, c, d are their shares 
respectively and if a/b = b/c = c/d = 2/3, then a =  

A) Rs. 160  
B) Rs. 140  
C) Rs. 320  
D) Rs. 240  
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56) ଚାରଜିଣ ସଦସȻ A, B, C ଏବଂ Dŋ ମżେର Rs. 1300 ଭାଗ କରାଗଲା। 
ଯଦ ିେସମାନŋର ଭାଗ ଯଥାǰେମ a, b, c, d ଏବଂ ଯଦ ିa/b = b/c = c/d 
= 2/3, ତା’ େହେଲ a =  

A) Rs. 160  
B) Rs. 140  
C) Rs. 320  

D) Rs. 240  
 

 
 
57) If A, B are two disjoint sets, then the number of 
elements in AUB is  

A) n(A) + n(B) -2  
B) n(A) -n(B)  
C) n(A) - n(B) +2  
D) n(A) +n(B)  

 

 
 
57) ଯଦ ିA, B େହଉଛŽି ଦୁଇଟ ିଅଣେଛଦୀ େସଟ, େତେବ AUB େର ǆବା 
ଉପାଦାନଗଡୁକିର ସଂଖȻା େହଉଛ ି 

A) n(A) + n(B) -2  
B) n(A) -n(B)  
C) n(A) - n(B) +2  
D) n(A) +n(B)  

 

 
 
58) If the sum of two numbers is 55 and the H.C.F. and 
L.C.M. of these numbers are 5 and 120 respectively, then 
the numbers are  

A) 35 and 20  
B) 50 and 5  
C) 40 and 15  
D) 30 and 25  

 

 
 
58) ଯଦ ିଦୁଇଟ ିସଂଖȻାର େଯାଗଫଳ 55 ଏବଂ ଏହ ିସଂଖȻାଗଡ଼ୁକିର ଗ.ସା.ଗ.ୁ 
ଏବଂ ଲ.ସା.ଗ.ୁ ଯଥାǰେମ 5 ଓ 120 ,େତେବ ଏହ ିସଂଖȻା ଦୁଇଟ ିେହଉଛŽ ି 

A) 35 ଏବଂ 20  

B) 50 ଏବଂ 5  
C) 40 ଏବଂ 15  

D) 30 ଏବଂ 25  
 

59) In a survey of a group of students, it was revealed that 
60 of them liked at least one of the cereals, Frosted Flakes 
or Lucky Charms. If 50 of them liked Frosted Flakes and 
46 of them liked Lucky Charms, then how many of them 
liked both cereals?  

A) 36  
B) 55  
C) 46  
D) 38  

 

 
 
59) ବଦିȻାଥƽୀମାନŋ ଏକ ଗƿପ ଏକ ସେଭƽେର, ଏହା ଜଣା ପଡଲିା େଯ େସମାନŋ 
ମżରୁ 60 ଜଣ ȅେƨଡ େଫȲǉ ସ ବା ଲକ ିଚାମƽସ ମżରୁ ଅତ ିକମେର େଯେକୗଣସି 
େଗାଟଏି ଶସȻ ପସƃ କରŽି | ଯଦ ିେସମାନŋ ମżରୁ 50 ଜଣ ȅେƨଡ େଫȲǉ ସ 
ଓ 46 ଜଣ ଲକି ଚାମƽସ ପସƃ କରŽ,ି େତେବ େକେତ ଜଣ ଉଭୟ ଶସȻ ପସƃ 
କରŽ?ି  

A) 36  
B) 55  

C) 46  
D) 38  

 

 
 

60) The square root of   is  

A) 4  
B) 5  

C) 
 

D) 3  
 

 
 

60)   ର ‘‘ବଗƽମୂଳ’’ େହଉଛ ି 

A) 4  
B) 5  

C) 
 

D) 3  
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Section 7 - PaperII-Social Science 

61) How many languages are recognised by the 
Constitution of India?  

A) 21  
B) 23  
C) 20  
D) 22  

 

 
 
61) ଭାରତ ର ସƖିଧାନ େର େକେତାଟ ିଭାଷା ମାନȻତାȄାƌ ଅେଟ?  

A) 21  
B) 23  

C) 20  
D) 22  

 

 
 
62) Where is the Arctic Circle located?  

A) 23.5° S of the Equator  
B) 66.5° E of the Equator  
C) 66.5° N of the Equator  
D) 66.5° S of the Equator  

 

 
 
62) ଉŧର େମରୁ େକଉଁଠାେର ଅବƳିତ ?  

A) ବଷିୁବ େରଖାର 23.5 ଡǲିୀ  ଦŁିଣେର  

B) ବଷିୁବ େରଖାର 66.5 ଡǲିୀ  ପୂବƽେର  
C) ବଷିୁବ େରଖାର 66.5 ଡǲିୀ  ଉŧରେର  

D) ବଷିୁବ େରଖାର 66.5 ଡǲିୀ  ଦŁିଣେର  
 

 
 
63) Which of the following is known as the gradual rise in 
the temperature of the Earth's surface?  

A) Land warming  
B) Ocean warming  
C) Earth warming  
D) Global warming  

 

 
 

63) ନମିȪଲିǅତ ମżରୁ କଣ ପୃǆବୀ ର ପƪୃ ର ତାପମାǿା େର ǰମିକ ବୃŶ ିରୂପେର 
ଜଣାଯାଉǆଲା?  

A) ଭୂମି ଗରମ େହବା  
B) ମହାସାଗର ଗରମ େହବା  
C) ପୃǆବୀ ଗରମ େହବା  
D) େଗȲାବାଲ ୱାମǃଂ  

 

 
 
64) Who among the following is the head of the district 
administration in India?  

A) Revenue Officer  
B) District Collector  
C) Chief Minister  
D) Mayor  

 

 
 
64) ନମିȪଲିǅତ ମżରୁ କଏି ଜơିା Ȅଶାସନ ର ମୁଖȻ ଅଟŽ?ି  

A) ରାଜƸ ଅǇକାରୀ  
B) ଜơିା କେଲଲȡର  
C) ମଖୁȻ ମſୀ  
D) େମୟǣ  

 

 
 
65) Who among the following kings was a famous ruler of 
the Kushan dynasty?  

A) Ashoka  
B) Kanishka  
C) Harshavardhana  
D) Krishnadevaraya  

 

 
 
65) ନମିȪଲିǅତ ମż ରୁ େକଉଁ ରାଜାଜେଣ ȄସŶି କୁଶାଣ ଶାସକ ǆେଲ?  

A) ଅେଶାକ  

B) କନƦି  

C) ହଷƽ  
D) ଆକବର  
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66) Which of the following types of climate is 
characterised by hot, dry summer and mild, rainy winter?  

A) Mediterranean Climate  
B) Tropical Wet Climate  
C) Humid Subtropical Climate  
D) Tropical Monsoon Climate  

 

 
 
66) ନମିȪଲିǅତ   ମżରୁ େକଉଁ Ȅକାରର ଜଳବାୟୁେର  ଉŧƌ, ଶƦୁ ǲୀଷȯଋତୁ  ଓ 
ଶୀତଋତୁେର  ହାଲୁକା ବୃƨିପାତ େହାଇଥାଏ ?  

A) ଭୂମżସାଗରୀୟ ଜଳବାୟୁ  

B) ǰାŽୀୟ ଆȁƽ ଜଳବାୟୁ  
C) ଉପǰାŽୀୟ ଆȁƽ ଜଳବାୟୁ  

D) ǰାŽୀୟ େମୗସମୁୀ ଜଳବାୟୁ  
 

 
 
67) Which among the following is known as the energy 
mineral?  

A) Silver  
B) Iron  
C) Copper  
D) Coal  

 

 
 
67) ନମିȪଲିǅତ   ବକିƝଗଡୁକି  ମżରୁ େକଉଁ  ବକିƝଟ ିଖଣଜି ଶĽି ଅେଟ  ?  

A) ରୁପା  
B) ଲୁହା  
C) ତମȴା  
D) େକାଇଲା  

 

 
 
68) What is the maximum strength of Rajya Sabha as per 
Article 80 of the Constitution of India?  

A) 245  
B) 248  
C) 238  
D) 250  

 

 
 

68) ଭାରତ ର ସƖିଧାନ ର ଅନୁେଛଦ 80 ଅନୁସାେର ରାଜȻ ସଭାର ଅǇକତମ 
ସଂଖȻା ଶĽି େକେତ ଅେଟ?  

A) 245  
B) 248  
C) 238  

D) 250  
 

 
 
69) Who among the following was the leader, who led his 
followers for a mass conversion to Buddhism in 1956?  

A) Jawaharlal Nehru  
B) Sarojini Naidu  
C) B.R Ambedkar  
D) Mahatma Gandhi  

 

 
 
69) ନମିȪଲିǅତ ମżରୁ କଏି େନତା ǆେଲ, ଯିଏକ ି1956 ନଜିର ଅନୁସରଣ କୁ 
େବୗŶ ଧମƽ ପାଇଁ ବଡ ଆକାରେର ଧମƽାŽରଣ ପାଇଁ େȄରିତ କରǆିେଲ?  

A) େନେହରୁ  

B) ସେରାଜନିୀ ନାଇଡୁ  
C) ବ.ି ଆର. ଆେମȴଦକର  
D) ଗାƆୀଜୀ  

 

 
 
70) Which of the following dates is celebrated as 'Earth 
Day' every year?  

A) 22nd July  
B) 22nd June  
C) 22nd April  
D) 22nd May  

 

 
 
70) ନମିȪଲିǅତ ମżରୁ େକଉଁ ତାରିଖ କୁ ȄେତȻକ ବଷƽ ପୃǆବୀ ଦବିସ ରୂପେର 
ପାଳନ କରାଯାଇଥାଏ?  

A) 22 ଜୁଲାଇ  
B) 22 ଜୁǜ  
C) 22 ଅେȄǤ  

D) 22 ମଇ  
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71) By what name is the climatic zone between 23.5° 
North and South of the equator known as?  

A) Torrid Zone  
B) Frigid Zone  
C) Temperate Zone  
D) Doldrum  

 

 
 
71) ବଷୁିବ େରଖାର  23.5 ଡǲିୀ ଉŧର ଓ ଦŁିଣେର ǆବା ତାପ ମŢଳକୁ େକଉ ଁ
ନାମେର ନାମତି  କରାଯ଼ାଇଛ ି?  

A) ǲୀଷȯ ମŢଳ  

B) ହମିମŢଳ  
C) ନାତଶିୀେତାƫ  

D) ଅବଶ ଅବƳା  
 

 
 
72) In which year did the British shift their capital from 
Calcutta to Delhi?  

A) 1909  
B) 1911  
C) 1905  
D) 1910  

 

 
 
72) େକଉଁ ବଷƽ େର Ȇଟିଶି ମାେନ ରାଜଧାନୀ କୁ କଲିକତା ରୁ ଦơିୀ କୁ ƳାନାŽରତି 
କରǆିେଲ?  

A) 1909  

B) 1911  

C) 1905  
D) 1910  

 

 
 
73) Which of the following articles of the Constitution of 
India includes the Right to Freedom?  

A) Art.14 to 18  
B) Art.23 and 24  
C) Art.19 to 22  
D) Art.25 to 28  

 

 
 

73) ଭାରତ ର ସƖିଧାନ ର ନମି Ȫଲିǅତ ମżରୁ େକଉଁ ଅନୁେଛଦ େର Ƹତſତାର 
ଅǇକାର ସାମଲି ଅେଟ?  

A) କଳା 14 ରୁ 18  
B) କଳା 23 ରୁ 24  
C) କଳା 19 ରୁ 22  

D) କଳା 25 ରୁ 28  
 

 
 
74) At which of the following places in India is the 
experimental project to harness geothermal energy 
located?  

A) Bastar  
B) Spiti valley  
C) Puga valley  
D) Jharia  

 

 
 
74) ଭାରତେର ,  ନମିȪଲିǅତ  Ƴାନଗୁଡକି  ମżରୁ  େକଉଁ Ƴାନେର ଉଦାହରଣ 
େଯ଼ାଜନା ଭୂ ତାପଜ ଶĽି  ନୟିſକ ଅବƳିତ ?  

A) ବƱǣ  
B) ƶିତ ି ଉପତȻାକା  
C) ପଗୁା ଉପତȻାକା  
D) ଝରଆି  

 

 
 
75) Which of the following options was the four fold 
division of the society that ascribed specific functions to 
each social group?  

A) Varnashrama  
B) Vedas  
C) Upanishads  
D) Rajasuya  

 

 
 
75) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ି ସମାଜର ଚାରି ଗୁଣ ବଭିାଜନ ǆଲା ଯାହାକି 
ȄେତȻକ ସାମାଜକି ସମୂହ କୁ ବଶିƨି କାଯƽȻ Ȅଦାନ କରǆିଲା?  

A) ବťƽȎମ  

B) େବଦ  
C) ଉପନେିଶଦ  

D) ରାଜସୂୟା  
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Section 8 - PaperII-Science 

 

76) Which of the following is an example of 
Archaebacteria?  

A) Amoeba  
B) Paramecium  
C) Acidilobus Saccharovorans  
D) Yeast  

 

 
 
76) ନମିȪମżରୁ େକଉଁ ଆେକƽବȻାେକȡରଆିର ଏକ ଉଦାହରଣ?  

A) ଏମିବା  
B) ପାରାେମସଅିମ  

C) ଏସଡିେିଲାବସ Ưାେରାେଭାରାନȷ  
D) ଇƨ  

 

 
 
77) A vessel whose bottom has round holes with diameter 
of 0.1 mm. If filled with water, the maximum height to 
which the water can be filled without leakage is (Given, 
S.T. of water = 75 dyne/cm, g = 1000 cm/s^2)  

A) 100 cm  
B) 30 cm  
C) 75 cm  
D) 50 cm  

 

 
 
77) ଏକ ପାǿ ଯାହାର ତେଳ  0.1 mm ବȻାସାŶƽର େଗାଲ ଛȁିମାନ ଅଛ ି| ଯଦ ି
େସǆେର ପାଣି ପୁରାଯାଏ, ବନିା ଲିେକଜେର ଅତେିବଶୀେର େକେତ ଉőତା ଯାଏ 
ପାଣି ଭରାଯାଇପାରବି? (Ȅଦŧ, ପାଣରି ପୃƪ ତନନ = 75 dyne/cm, g = 
1000 cm/s^2)  

A) 100 cm  
B) 30 cm  

C) 75 cm  
D) 50 cm  

 

 
 
 
 
 
 

78) Cattail plants having long and flat leaves usually grow 
in  

A) Underwater  
B) Deserts  
C) Red soils  
D) Marshy lands  

 

 
 
78) ଲମȴା ଓ ଫȲାଟ ପǿ ǆବା କȻାଟେଟଲ ଗଛ ସାଧାରଣତଃ େକଉଁଟ ିବଢଥିାଏ?  

A) ପାଣି ତେଳ  
B) ମରୁଭୂମ ି 

C) ନାଲି ମାଟ ି 
D) ସŽସŽଆି ଜମ ି 

 

 
 
79) The speed of a boat is 5 km/hr in still water. It crosses 
a river of width 1 km along the shortest possible path in 15 
minutes. The velocity of the river water is (Kilometre per 
hour is written as km/hr)  

A) 4 km/hr  
B) 1 km/hr  
C) 3 km/hr  
D) 5 km/hr  

 

 
 
79) Ƴରି ଜଳେର େଗାଟଏି େବାଟର େବଗ େହଉଛ ି5 km/hr | ଏହା 1 km 
ଓସାରର େଗାଟଏି ନଦୀକୁ 15 ମନିଟିେର ସବƽନମିȪ ସƗାବȻ ପଥ େଦଇ ଅତǰିମ 
କରୁଛ ି | ନଦୀ ଜଳର ପରେିବଗ େକେତ? (କେିଲାମଟିର Ȅତ ିଘŠା କୁ km/hr 
ଭାେବ େଲଖାଯାଇଛ)ି  

A) 4 km/hr  
B) 1 km/hr  
C) 3 km/hr  
D) 5 km/hr  
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80) Read the following statements and choose the 
CORRECT option.  
(i) Usually Deciduous plants are those that lose all of their 
foliage for part of the year.  

(ii) An Evergreen plant is a plant that retains its foliage 
throughout the year. 

 
A) (i) is FALSE and (ii) is TRUE  
B) (i) is FALSE and (ii) is FALSE  
C) (i) is TRUE and (ii) is TRUE  
D) (i) is TRUE and (ii) is FALSE  

 

 
 
80) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) ସାଧାରଣତଃ ପǿଝଡା ଗଛଗଡୁକି େସହ ି ଗଡ ଯିଏ ବଷƽର ଏକ ସମୟେର 
େସମାନŋ ପǿ ହରାଇଥାଆŽ ି|  

(ii) ଏକ ଚରିସବୁଜ ଗଛ େହଉଛ ିେସହ ିଗଛ ଯାହା ପǿ ବଷƽ ସାରା ରହଥିାଏ | 

 
A) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  

B) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  

C) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  

D) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  
 

 
 
81) Biotic components on the earth usually contain plants, 
animals and  

A) air  
B) soil  
C) microbes  
D) rocks  

 

 
 
81) ପǆୃବୀର େଜବୖକି ଉପାଦାନଗୁଡକିେର ସାଧାରଣତଃ ଉŹିଦ, Ȅାଣୀ ଓ ____ 
ଥାଆŽ ି|  

A) ବାୟୁ  

B) ମାଟ ି 

C) ମାଇେǰାବ  
D) ପଥର  

 

 
 
 
 

82) Oxidation can be defined as the process of  

A) addition of both oxygen and hydrogen to a substance 
B) addition of hydrogen or the removal of oxygen from a 

substance  
C) addition of oxygen or the removal of hydrogen from a 

substance  
D) removal of both oxygen and hydrogen to a substance 

 

 
 
82) ଅŅେିଡସନ େକଉଁ Ȅǰିୟାକୁ ବťƽନା କେର?  

A) େଗାଟଏି ପଦାଥƽେର ଉଭୟ ଅମȲଜାନ ଓ ଉଦଜାନ େଯାଗ କରିବା  
B) େଗାଟଏି ପଦାଥƽେର ଉଦଜାନ େଯାଗ କରବିା ବା ଅମȲଜାନ ବାହାର କରବିା  
C) େଗାଟଏି ପଦାଥƽେର ଅମȲଜାନ େଯାଗ କରବିା ବା ଉଦଜାନ ବାହାର କରିବା  
D) େଗାଟଏି ପଦାଥƽରୁ ଉଭୟ ଅମȲଜାନ ଓ ଉଦଜାନ ବାହାର କରବିା  

 

 
 
83) If more air is pushed in a soap bubble, the pressure in 
it  

A) remains same  
B) becomes zero  
C) increases  
D) decreases  

 

 
 
83) ଯଦ ିଏକ ସାବୁନ େଫାଟକାେର ଅǇକ ପବନ ପରୁା ଯାଏ, ଏହାର ଚାପ କଣ 
େହବ ?  

A) ସମାନ ରହବି  
B) ଶୂନȻ େହାଇଯବି  

C) ବଢ଼ବି  
D) କମିବ  

 

 
 
84) In which of the following sub-phases of the Prophase 
of the meiotic cell division, the homologous chromosomes 
start pairing with each other?  

A) Zygotene  
B) Leptotene  
C) Pachytene  
D) Diplotene  
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84) େମଇଓଟକି େକାଷ ବଭିାଜନର େȄାେଫଜ ର ନମିȪ େକଉଁ ଉପ-ପଯƽȻାୟେର 
େହାେମାେଗାେଲାସ େǰାେମାେଜାମଗଡୁକି ପରƶର ସହ େଯାଡେିହବା ଆରƗ 
କରŽ?ି  

A) ଜାଇେଗାଟନି  
B) େଲେପȡାଟନି  
C) ପାଚଟିନି  

D) ଡାଇେପȲାଟନି  
 

 
 
85) Read the following statements and choose the 
CORRECT option.  
(i) Leukocytes are red blood cells that protect your body 
from infection caused by viruses or bacteria.  

(ii) Usually a mature Erthrocyte cell has a large nucleus 
and is made in the bone marrow. 

 
A) (i) is TRUE and (ii) is TRUE  
B) (i) is FALSE and (ii) is FALSE  
C) (i) is FALSE and (ii) is TRUE  
D) (i) is TRUE and (ii) is FALSE  

  
 
85) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) ଲୁȻେକାସାଇଟଗୁଡକି େହଉଛ ିେଲାହତି ରĽ କଣିକା ଯାହା ଆପଣŋ ଶରୀରକୁ 
ଭାଇରସ ବା ବȻାେକȡରିଆ Ÿାରା େହଉǆବା ସଂǰମଣରୁ ସରୁŁା େଦଇଥାଏ |  

(ii) ସାଧାରଣତଃ ଏକ ପରିପĿ ଏେȀƽାସାଇଟ େକାଷେର ଏକ ବଡ ନୁȻକିȲଅସ ଥାଏ 
ଓ ଅƳିମŔ 

 
A) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  

B) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  
C) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  

D) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  
  
 
86) A drunkard walking in a narrow lane takes 8 steps 
forward and 6 steps backward, followed by 8 steps 
forward and 6 steps backward, and so on. Each step is 1 
m and requires 1 s. How long the drunkard takes to fall in 
a pit 18 m away from the start?  

A) 78 s  
B) 28 s  
C) 126 s  
D) 62 s  

 

86) ଜେଣ ମଦୁଆ େଗାଟଏି ପତଳା ରାƱାେର 8 ପାଦ ଆଗକୁ େନବା ସମୟେର 6 
ପାଦ ପଛକୁ େନଉǆଲା, ପଣୁି 8 ପାଦ ଆଗକୁ ଓ 6 ପାଦ ପଛକୁ େନଉǆଲା ଓ 
େସହପିରି ଚାଲୁǆଲା | Ȅତ ିପାଦ େହଉଛ ି1 m ଓ 1 s ସମୟ ଲାଗୁǆଲା | ଆରƗରୁ 
18 m ଦୂରେର ǆବା ଏକ ଗାତେର ପଡିବା ପାଇଁ ତା’କୁ େକେତ ସମୟ ଲାଗବି?  

A) 78 s  

B) 28 s  

C) 126 s  

D) 62 s  
 

 
 
87) Coal burns in air to form carbon dioxide is an example 
of which of the following types of reaction?  

A) Combination reactions  
B) Displacement reactions  
C) Decomposition reactions  
D) Double displacement reactions  

 

 
 
87) େକାଇଲାକୁ ବାୟୁେର ଜଳାଗେଲ ଅŏାରକାମȲ ସୃƨି େହବା େହଉଛ ିନମିȪମżରୁ 
େକଉଁ Ȅକାରର Ȅତǰିିୟାର ଉଦାହରଣ?  

A) ସଂେଯାଜନ Ȅତǰିିୟା  
B) ବƳିାପନ Ȅତǰିିୟା  
C) ଅପଘଟନ Ȅତǰିିୟା  
D) େŸୖତ ବƳିାପନ Ȅତǰିିୟା  

 

 
 
88) A rubber cord catapult has cross-sectional area 25 
mm2 and initial length of rubber cord is 10 cm. It is 
stretched to 5 cm and then released to project a missile of 
mass 5 g. Taking Yrubber = 5 x 108 N/m2, velocity of 
projected missile is  

A) 20 ms-1  
B) 100 ms-1  
C) 200 ms-1  
D) 250 ms-1  
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88) ଏକ  ରବର େଡାରର େଗାେଲଲ ର ǰସ େସŅନ େŁǿ 25 mm2 ଏବଂ 
ରବର େଡାରର ȄାରƗିକ  େଦଘୖƽȻ େହଉଛ ି10 cm | ଏହାକୁ 5 cm ପଯƽȻŽ ଟଣା 
ଗଲା ଏବଂ  5g  ଭାର ିଏକ େŁପଣାƲକୁ ȄେŁପ କରାଗଲା | ଯଦ ିYrubber 
= 5 x 108 N/m2 ନଆିଯିବ, ତାହାେଲ ȄେŁପତି େŁପଣାƲଟରି େବଗ େକେତ 
?  

A) 20 ms-1  

B) 100 ms-1  
C) 200 ms-1  

D) 250 ms-1  
 

 
 
89) Which of the following options is NOT usually a shape 
of chloroplasts found in green plants?  

A) Oval  
B) Discoid  
C) Biconcave  
D) Spherical  

 

 
 
89) ନମିȪମżରୁ େକଉଁ ବକିƝଟ ି ସବୁଜ ଉŹିଦଗଡୁିକେର ମିଳୁǆବା 
େକȲାେରାପȲାƨଗୁଡକିର ଆକୃତ ିନୁେହ?ଁ  

A) ଅŢାକୃତ ି 
B) ଡƯି ଆକାରର  

C) ଉଭୟ ଅବତଳ  
D) େଗାଲାକାର  

 

 
 
90) The distance travelled by the car, if a car travels 6 km 
towards north at an angle of 45° to the east and then 
travels a distance of 4 km towards north at an angle of 
135°to the east is  

A) √52 km  
B) √35 km  
C) √26 km  
D) √18 km  

 

 
 
 
 
 

90) ଯଦ ିେଗାଟଏି କାର ପୂବƽକୁ 45° େକାଣ ସହତି ଉŧରକୁ 6 km ଯାଉଛ ିଓ 
ପୂବƽକୁ 135° େକାଣ ସହତି ଉŧରକୁ 4 km ଯାଉଛ ିେତେବ େସହ ିକାର େମାଟ 
େକେତ ଦୂରତା ଅତǰିମ କରୁଛ?ି  

A) √52 km  
B) √35 km  
C) √26 km  

D) √18 km  
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Question Paper No:  53607_53  

Answer Key 

 

1.  B  
2.  C  
3.  A 
4.  C  
5.  D 
6.  B  
7.  D 
8.  C  
9.  A 
10.  C  
11.  A 
12.  B  
13.  B  
14.  A 
15.  B  
16.  C  
17.  C  
18.  A 
19.  B  
20.  B  
21.  C  
22.  A 
23.  A 
24.  C  
25.  B  
26.  C  
27.  B  
28.  D 
29.  D 
30.  B  

 

31.  D 
32.  B  
33.  D 
34.  D 
35.  B  
36.  A 
37.  A 
38.  D 
39.  B  
40.  A 
41.  D 
42.  D 
43.  B  
44.  C  
45.  C  
46.  C  
47.  C  
48.  D 
49.  D 
50.  D 
51.  D 
52.  D 
53.  A 
54.  A 
55.  D 
56.  A 
57.  D 
58.  C  
59.  A 
60.  A 

 

61.  D 
62.  C  
63.  D 
64.  B  
65.  B  
66.  A 
67.  D 
68.  D 
69.  C  
70.  C  
71.  A 
72.  B  
73.  C  
74.  C  
75.  A 
76.  C  
77.  B  
78.  D 
79.  C  
80.  C  
81.  C  
82.  C  
83.  D 
84.  A 
85.  B  
86.  A 
87.  A 
88.  D 
89.  C  
90.  A 
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